
Answer on Question #80498 – Math – Statistics and Probability 

Question 

The mean monthly salary of the employees of a local library is R 4800. Assuming 

that the salaries are approximately normally distributed with a standard deviation 

of R 500, approximately what percentage of these workers earn monthly salaries in 

excess of R 6000?  

Solution 

Salary has distribution 𝑋~𝑁(4800,5002)  

Denote 𝐹(𝑥) = ∫
1

√2𝜋
𝑒−𝑥

2/2𝑑𝑥
+∞

𝑥
 . The values of 𝐹 can be found in tables. 

Then 𝑃(𝑋 > 6000) = 𝑃 (
𝑋−4800

500
>

6000−4800

500
) = 𝑃(𝑧 > 2.4) = 𝐹(2.4) = 0.0082  

The percentage is 0.82%. 

Answer: 0.82%. 
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